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MATHEMATICS SSC-lI
SECTION - A (Marks 15)

Time allowed: 20 Minutes : (Science Group)y

NOTE:

Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

-

Q.1

Circle the correct option Le. A/ B / C / D. Each part carries one mark.

{i)

{v)

{vi)

{vii)

{viii)

{ix)

(xi)

{xii)

{xi)

(xiv)

(xv)

Standard form of quadratic equation is:

A bx+c=0, b=0 B. ax’* +bx+c=0,a=0
C. ax’=pbx,a#0 D. ax* =0, a#0
Product of cube roots of unity is: .
A 0 B. i C. ~1 D. 3
The nature of the roots of equation ax? +bx+c¢=0 is determined by:
A Sum of the roots B. Product of the roots
C. Synthetic division D. Discriminant
If Ei:i:k, then:
Vv w
A u=wk* B. u = vk? o u=wk D. u=vk
x2 41
Partial fractions of ~——————are of the form:
(x+D(x-1
A AL B B, 1.4 BxC
x+t x-1 x+1 x—1
C. oA 5 D. a+B, C
x+1 x-1 x+1 x-1
If Ac B.then A— Bis equal to:
A, A " B. B C. @ D. B-4
The most frequent occurring observation in a data set is called:
A Mode B. Median
C Harmonic Mean D. Geometric Mean

The extent of variation between two extreme observations of a data set is measured by:
A Average B. Range C. Quartiles B. Variance

3z . .
7 radians is equal to:

A 115 B. 135° C. 150 D. 30
Radii of a circle are;

A All equal B. Double of the diameter

C. All unequal D. Half of any chord

A line which has two points in common with a circle is called:

A Sine of a circle B. Cosine of a circle :
C. Tangent of a circle D. Secant of a circle

The semi circumference and the diameter of a circle both subtend a central angle of:
A. 90° B. 1808 C. 270° D. 3607
A circle passes through the vertices of a right angled triangle ABC with mAC =3cm , mBC =4cm

and mZC =90° . Radius of the circle is:

A. 1.5¢cm B. 20cm C. 25cm D. 3.5¢cm
Tangents drawn at the end points of the diameter of a circle are:
A Parallel B. Perpendicular C. Intersecting D. Bisecting

The circle passing through the vertices of a triangle is known as:
A. Incircle B. Escribed circle C. Circumcircle D. Semicircle

For Examiner’s use only:
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MATHEMATICS SSC-IlI
Science Group 2>

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any nine parts from Section ‘B’ and any three questions from Sectlon ‘C’ on the separately
provided answer book. Use suppiementary answer sheet i.e. Sheet-B If required. Write your answers
neatly and legibly.

SECTION - B (Marks
Q.2  Attempt any NINE parts. All parts carry equal marks. (9x4=36)

(i) Solve the equation by completing square: o rmx+n=o , 020

(ii) Find the value of “ k *, if the roots of the following equation are equal: x* +2(k +2)x+(3k +4)=0

{iii) Find“ A", if the roots of the equation, x2 —hx +10=0 differ by "3".

(iv) Use synthetic division to find the values of "I"and "m", if (x +3)and (x - 2) are the factors of the
polynomial, x* +4x* + 2€x+m.

(v) The length of a rectangle is 4cm more than its breadth. If the area of the rectangle is 45cnr’ .
Find its sides.

(vi) Find a third proportional of (x+ y) and (x* - y*).

\/x2 +2 +\/x2 -2

(vii)  Solve the equation: =2, by using Componendo-Dividendc theorem.
\/x2 +2 ~\/x2 -2
a ¢ e L
(viit) Ifg = = = }— (a.b,c.d,e, f+0), then show that: E R e

(ix) Resolve 3),‘ | into partial fractions.

(%) If U ={1,2,3,...10} , 4={1,3,5,7.9}, B={1,4,7,10}, then verify that: (AU B)Y = AN B
(xi) Find“a" and“b" , if 3-2a,b—-1)=(a~7,2b+5)

(xii) The sugar contents for a random sample of 6 packs of juices of a certain brand are found to be:
23,27,2529, 3.1 and 1.9 milligram. Find the median.
(xiii)  Find the standard deviation “S" of set of numbers: 9, 3, 8,8, 9, 8,6, 18

secd+1 secd+1
secd—-1  tand

SECTION - C {Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

(xiv)  Verify the identity:

Q.3 Prove that, in any triangle, the sum of the squares on any two sides is equal to twice the square on half the
third side together with twice the square on the median which bisects the third side.

Q4. Prove that, if a line is drawn perpendicular to a radial segment of a circle at its outer end point, it is tangent
to the circle at that point.

Q5. Prove that measure of a central angle of a minor arc of a circle, is double in measure that of the angle
subtended by the corresponding major arc.

Q6. Draw two circles with radii 2.5 cm and 3 cm. If their centers are 6.5 cm apart, then draw two
direct common tangents.

Q7  Atelevision antenna of 8 feet height is located on the top of a house. From a point on the ground the angle

of elevation to the top of the house is 17° and the angle of elevation to the top of the antenna is 21.8". Find
the height of the house.
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MATHEMATICS SSC-II
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Old Syllabus)

NOTE: Section-A is compuisory. All parts of this section are to be answered on the questionh paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencit.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.
(i) Which is an open sentence?
A 3>2 B. x+2=3 C. -3<-8 D. Jv<Tv

(if) Which ane is solution set of +/x =—3?

A {3} B. {9} C. {} D. {3}
{iii) What is meaning of compound sentence -3<x<3?

A -3<xand x<3 B. x>3

C. x>-3 D. x<-3
{iv) Which one ordered pair satisfies x—-y=3?

A (3.0) B. (0,3) C. (2,h D. (1.2)

(v} Which is free relation from 'x'for equation x -~3—l——and x=2m?
n

A 2mn =1 B. 6mn =1 C. m=3n D. 2m=n
(i) Eliminating 'Z'from m—-Z =2, n+Z =4, we get.

A m-n=6 B. m+n=2 C. m+n=6 D. m-n=72
{vii) Eliminating 'x'from following equations: Px~g=0 , rx—s=0, we get:

A gr =sp B. g=sr C. gp=1rs D. p=sr

ity If p? oci, then:
p

A pz=§ B. pi=kg C. p=i D pﬂzf
{ix) If 5:8=5:x then xis:

A 5 B. 8 C. 25 D. 40
(x) Third proportional of 3 and 12 is:

A 36 B. 48 C. 4 D. 12
(xi) Mode of data 75, 76, 80, 80, 82, 82, 82 is:

A 75 B. 80 C 82 D 76
{xii) Range of data 70, 100, 150, 60, 110, 600 is:

A 600 B. 60 C. 540 D. 100
(xii) A circle touching three sides of a triangle internally is called:

A Circumcircle B. In circle

C. E-circle opposite to A D. E-circle opposite to B

{xiv) A tangent line touching a circle at:
A One point B. Two points C. Three points D, No point
{xv) The centrat angle of a minor arc is than the inscribed angie of major arc.
A Double B. Half C. Quarter D. Equal

For Examiner’s use only:

Total Marks: 15

Marks Obtained:
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ey MATHEMATICS SSC-II 21—
NSl (Old Syllabus)
Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - rks 36
Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
()  Soive following linear equation > = 4‘-(-";]- - f)
5 2\ 3 5
. , . , 7 .3
(i) If same number is added in the numerator and the denominator of E , the new fraction is Z

Find the number.

(iii) Find solution set of the following equation and check: 10 —/y +1 =12

(iv} Find solution set of the following 3-5y - -2— = l
4 3 3
{v) Solve the following equation by factorization 5¢2-12=17s

{vi) Find the solution set of following equation by quadratic formuta 3x* -5x—-6=10

U x 1+

vii Eliminate 't' from the following equations y = T
v 9ed Y b(i-1) "a 1-1

(vii)  Find relation independent of 'x' from the following equations 2x? — x + p=0, ¥ -3x-q=0
(ix)  Eliminate '¢' from following equations 2af® = x , 4bt* = y

(x) Find the value of 'x'for the following 2x—1:3::5x:10

(xij If Pcg'and P =128 for g=4.Find Pif g=5

(xiiy  Find the third proportional in the following x + y , x* — 3

3a’ - 78 _3c* -7d°
3a+767 3¢ +7d?

(xiv)  Find numbers if the ratio between them is 9:5 and their difference is 36.

(xiiy  If %:2, then prove that

(xv) Calculate arithmetic mean from the following information it D=x-140 , 2D =500, n=10

(xvi)  Calculate the range and variance from the following marks out of 100
46,32,18,16,14,12,60,55,52,48,40.

(xviiy A kite has 120 m of string attached to it when at an elevation of measure 50°. How far is it above the
hand holding it? |

(xvii) Construct the AABC in which mAB =42cm s mCA =4cm , mBC = 4cm . Draw the medians of the

triangie.

SECTION — C (Marks 24

Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Q.3 A line parallel to one side of a triangle and intersecting the other two sides divides them proportionally.

Q4. Inaright angled triangle, the square of the length of hypothenuse is equal to the sum of the square of the
lengths of the other two sides.

Q5. If two circles touch externally the distance between their centres is equal to the sum of their radii.

Q6. Draw the transverse tangents to the circle with radii 2.6 cm and 1.3 cm. When distance between their

centres is 6.2 cm.
—— 288 1609 —
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